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Question Id : 68634020655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



There was a high standard of learning for women also. In house, they might learn music and dancmg. They
had to undergo the Upanayana ceremony.

There were two types of educated women.
1. Sadyodwahas : They are people who pursued studies till therr marrages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their mvolvement was more m reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitreyi and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads. While the
Brahmanas are called Karma Kanda (Karma is another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Since the shift involved total change in attitude, i1t needed a
link. This phase is called Aranyanka because it became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this is a provoking. If old people retired to forest, then it must
be due to strong affinity to the place of origin. which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an individual.

Subjects in Vedic Education :

It might take twelve years for a student to develop expertise in one Veda and thereatter, it would be twelve
years, thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

[ ]

. Anviksiki ( logic)

[

. Mimamsa (Interpretation)

s

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634020656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means :

1. Process of not marring and retiring to jungle

[

. Ceremony associated with the snataka.
3. Perusing study till marring

4. Process where knowledge is primary

Options :



68634081601. 1
68634081602. 2
68634081603. 3
68634081604. 4

Question Number : 2 Question Id : 68634020657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A, Harmony
B. Rapport
C. sympathy

D. Aversion
1. B Only
2. B and D Only

.CandD

[ ¥]

4. D Only

Options :

68634081605. 1
68634081606. 2
68634081607. 3
68634081608. 4

Question Number : 3 Question Id : 68634020658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of months required to expertise 1n all vedas for a student 1s :
1.576

2. 732

L]
—
F=N
e

4. 288

Options :

68634081609. 1
68634081610. 2
68634081611. 3
68634081612. 4

Question Number : 4 Question Id : 68634020659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?
1. Renunciation
2. Commerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634081613. 1
68634081614. 2
68634081615. 3
68634081616. 4

Question Number : 5 Question Id : 68634020660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬂl‘ﬂﬂﬂﬂ}fﬂkﬂ means .

1. Rishilas

[

. Brahmanas

T

. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

4. An old man going to the forests

Options :

68634081617. 1
68634081618. 2
68634081619. 3
68634081620. 4

Question Id : 68634020655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



There was a high standard of learning for women also. In house, they might learn music and dancmg. They
had to undergo the Upanayana ceremony.

There were two types of educated women.
1. Sadyodwahas : They are people who pursued studies till therr marrages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their mvolvement was more m reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitreyi and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads. While the
Brahmanas are called Karma Kanda (Karma is another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Since the shift involved total change in attitude, i1t needed a
link. This phase is called Aranyanka because it became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this is a provoking. If old people retired to forest, then it must
be due to strong affinity to the place of origin. which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an individual.

Subjects in Vedic Education :

It might take twelve years for a student to develop expertise in one Veda and thereatter, it would be twelve
years, thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

[ ]

. Anviksiki ( logic)

[

. Mimamsa (Interpretation)

s

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634020656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means :

1. Process of not marring and retiring to jungle

[

. Ceremony associated with the snataka.
3. Perusing study till marring

4. Process where knowledge is primary

Options :



68634081601. 1
68634081602. 2
68634081603. 3
68634081604. 4

Question Number : 2 Question Id : 68634020657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A, Harmony
B. Rapport
C. sympathy

D. Aversion
1. B Only
2. B and D Only

.CandD

[ ¥]

4. D Only

Options :

68634081605. 1
68634081606. 2
68634081607. 3
68634081608. 4

Question Number : 3 Question Id : 68634020658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of months required to expertise 1n all vedas for a student 1s :
1.576

2. 732

L]
—
F=N
e

4. 288

Options :

68634081609. 1
68634081610. 2
68634081611. 3
68634081612. 4

Question Number : 4 Question Id : 68634020659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?
1. Renunciation
2. Commerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634081613. 1
68634081614. 2
68634081615. 3
68634081616. 4

Question Number : 5 Question Id : 68634020660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬂl‘ﬂﬂﬂﬂ}fﬂkﬂ means .

1. Rishilas

[

. Brahmanas

T

. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

4. An old man going to the forests

Options :

68634081617. 1
68634081618. 2
68634081619. 3
68634081620. 4

Sub-Section Number : 2
Sub-Section Id : 686340678
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634020661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need .................... educating devotees................. a massive scale. Budhhist education
started 2,600 years ago. It was collective ................. the sence that it was not based............. cast system

1. Of on. from. with

()

. with. on. in. of
3. of, on. . on

4. of, i for. on

Options :

68634081621. 1
68634081622. 2
68634081623. 3
68634081624. 4

Question Number : 6 Question Id : 68634020661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need .................... educating devotees................. a massive scale. Budhhist education
started 2,600 years ago. It was collective ................. the sence that it was not based............. cast gystem

1. Of on. from. with

()

. with. on. in. of
3. of on. in. on

4. of, i for. on

Options :

68634081621. 1
68634081622. 2
68634081623. 3
68634081624. 4

Question Number : 7 Question Id : 68634020662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined expression with on idiom.

My uncle 1s very short tempered. So Whenever he visits us all of us at home are being extra careful.

1. At zea

]

. Dribs and drabs
3. Walking on egg shells

4. Walking the plan

Options :

68634081625. 1
68634081626. 2
68634081627. 3
68634081628. 4

Question Number : 7 Question Id : 68634020662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlined expression with on idiom.

My uncle 1s very short tempered. So Whenever he visits us all of us at home are being extra careful.

1. At zea

]

. Dribs and drabs
3. Walking on egg shells

4. Walking the plan

Options :

68634081625. 1
68634081626. 2
68634081627. 3
68634081628. 4

Question Number : 8 Question Id : 68634020663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the sentence with the correct subject verb agreement

1. Annotated Readings 1s necessary for on insight ful Understanding for the text and helps students better internalize
the material.

[ ]

. Annotated Readings are necessary for an insightful understanding of the text and help students better
internalize the material.

3. Annotated Readings are necessary for an insightful understanding of the text and helps students better
internalize the material.

4. Annotated Readings in necessary for an insightful understanding of the text and help students
betters Internalize the material

Options :

68634081629. 1
68634081630. 2
68634081631. 3
68634081632. 4

Question Number : 8 Question Id : 68634020663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the sentence with the correct subject verb Agreement

1. Annotated Readings is necessary for on insight ful Understanding for the text and helps students better internalize
the material.

()

. Annotated Readings are necessary for an insightful understanding of the text and help students better
internalize the material.

3. Annotated Readings are necessary for an insightful understanding of the text and helps students better
Internalize the material.

4. Annotated Readings in necessary for an insightful understanding of the text and help students
betters Internalize the material

Options :

68634081629. 1
68634081630. 2
68634081631. 3
68634081632. 4

Question Number : 9 Question Id : 68634020664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The prominently visible parts on the front size of an objectas: .............

L. Starling

()

. simplex
3. salience

4. Rosaline

Options :

68634081633. 1
68634081634. 2
68634081635. 3
68634081636. 4

Question Number : 9 Question Id : 68634020664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The prominently visible parts on the front size of an objectas: ..............
L. Starling
2. simplex
3. salience

4. Rosaline

Options :

68634081633. 1
68634081634. 2
68634081635. 3
68634081636. 4

Question Number : 10 Question Id : 68634020665 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

()

. Riverberation
3. Revirberation

4, Revarberation

Options :

68634081637. 1
68634081638. 2
68634081639. 3



68634081640. 4

Question Number : 10 Question Id : 68634020665 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

[ )

. Riverberation
3. Revirberation

4, Revarberation

Options :

68634081637. 1
68634081638. 2
68634081639. 3
68634081640. 4

Question Number : 11 Question Id : 68634020666 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The next member of the given series 1s :

8,18,23, 50,72, e,

1.120

| )

.90
3.02

4. 98

Options :

68634081641. 1
68634081642. 2
68634081643. 3
68634081644. 4

Question Number : 11 Question Id : 68634020666 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



The next member of the given series 1s :

8,18.23.50, 72, coeieeeeene

1.120

]

.90
3.92

4. 98

Options :

68634081641. 1
68634081642. 2
68634081643. 3
68634081644. 4

Question Number : 12 Question Id : 68634020667 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

A faulty minute hand covers only 90% of the cirele per hour. If it starts from eight in how many minutes 1t will
reach the seven mark at the given speed :

1. 53
2.58
3.6l
4.64

Options :

68634081645. 1
68634081646. 2
68634081647. 3
68634081648. 4

Question Number : 12 Question Id : 68634020667 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A faulty minute hand covers only 90% of the cirele per hour. If it starts from eight in how many minutes it will
reach the seven mark at the given speed :

1.53
2. 58

.61

Laa

4. 64

Options :



68634081645. 1
68634081646. 2
68634081647. 3
68634081648. 4

Question Number : 13 Question Id : 68634020668 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of his son's present age. If the present age of son 1s X year and age of
tather 15 79 years than value of X 1s :

1. 15 Year
2.17 Year
3. 23 Year

4, 18 Year

Options :

68634081649. 1
68634081650. 2
68634081651. 3
68634081652. 4

Question Number : 13 Question Id : 68634020668 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of his son's present age. If the present age of son 1s X year and age of
father 1s 79 years than value of X 1s :

1. 15 Year
2. 17 Year

.23 Year

L]

4. 18 Year

Options :

68634081649. 1
68634081650. 2
68634081651. 3
68634081652. 4

Question Number : 14 Question Id : 68634020669 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The product of 25% of x and 120% of y = ...ccccevveceeeeeee. Yo of (1)
1. 30

2.25

4.60

Options :

68634081653. 1
68634081654. 2
68634081655. 3
68634081656. 4

Question Number : 14 Question Id : 68634020669 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of 25% of x and 120% of y = ...c.ccceveveceeeenee. Yo of (1)
1. 30

2.25

4.60

Options :

68634081653. 1
68634081654. 2
68634081655. 3
68634081656. 4

Question Number : 15 Question Id : 68634020670 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a train n four hours, runming at 36 kim'h n first hour. 72 kan per hour 1n second hour and
108 km/h in the last two hours in (m/s) 1s :

1. 15

[
e
Ln

L]
e
o
b

Options :
68634081657. 1
68634081658. 2



68634081659. 3
68634081660. 4

Question Number : 15 Question Id : 68634020670 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a train in four hours, running at 36 kmv'h in first hour, 72 km per hour i second hour and
108 km/h i the last two hours 1n {m/s) 1s

1. 15

[ ]
.
n

[F§]
e
]
3]

4.30

Options :

68634081657. 1
68634081658. 2
68634081659. 3
68634081660. 4

Question Number : 16 Question Id : 68634020671 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given series : 85, 43, 44, 67.5. 137, 345 observe the series given and by establishing the same relation in 125,
(A), (B). (C). (D). (E). Find what will come 1s place of (C) ?

1. 86

[

.107.5

4.097.5

Options :

68634081661. 1
68634081662. 2
68634081663. 3
68634081664. 4

Question Number : 16 Question Id : 68634020671 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given series : 85, 43, 44, 67.5. 137, 345 observe the series given and by establishing the same relation in 125,
(A), (B). (C). (D). (E). Find what will come 1s place of (C) ?

1. 86

[ ]

. 107.5
31125

4.97.5

Options :

68634081661. 1
68634081662. 2
68634081663. 3
68634081664. 4

Question Number : 17 Question Id : 68634020672 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vartika went 90 meters mn the east before turning to her right. She went 20 meters before turring to her right
agam. She walked 30 metres tfurther and then turring to north she walked 100 metres. How far 1s vartika from.
Her starting pomnt?

1. 80 metres

| ]

. 100 metres
3. 140 metres

4, 260 metres

Options :

68634081665. 1
68634081666. 2
68634081667. 3
68634081668. 4

Question Number : 17 Question Id : 68634020672 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vartika went 90 meters mn the east before turning to her right. She went 20 meters before turring to her right
agam. She walked 30 metres further and then turring to north she walked 100 metres. How far 1s vartika from.
Her starting point?

1. 80 metres

| )

. 100 metres
3. 140 metres

4, 260 metres

Options :

68634081665. 1
68634081666. 2
68634081667 3
68634081668. 4

Question Number : 18 Question Id : 68634020673 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Indentify the water-image of the word "bridge"

LpIIgge
PLIQES

p1Iggs
+PIIPRG

Options :

68634081669. 1
68634081670. 2
68634081671. 3
68634081672. 4

[

L]

Question Number : 18 Question Id : 68634020673 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indentify the water-image of the word "bridge"”

Lp1Igge
pPLIggS
pP1IqRS
.pIIpgec

Options :

68634081669. 1
68634081670. 2
68634081671. 3
68634081672. 4

()

Lad

Question Number : 19 Question Id : 68634020674 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There 15 a certain relation between two given words on one side of : : and one word 1s given on another side of
: : while another word 1s to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7

1. Furnace

()

. Export's

. Goods

[ ]

4. Produce

Options :

68634081673. 1
68634081674. 2
68634081675. 3
68634081676. 4

Question Number : 19 Question Id : 68634020674 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There 15 a certain relation between two given words on one side of : : and one word 1s given on another side of
: : while another word 1s to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7

1. Furnace

()

. Export's
3. Goods

4. Produce

Options :

68634081673. 1
68634081674. 2
68634081675. 3
68634081676. 4

Question Number : 20 Question Id : 68634020675 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Introducing a boy. a girl said. " He 1s the son of the daughter of the father of my uncle". How 1s the boy related
to the girl?

1. Cousin

[ ]

. Nephew

. Uncle

Laa

4. Son-in-law

Options :

68634081677. 1
68634081678. 2
68634081679. 3
68634081680. 4

Question Number : 20 Question Id : 68634020675 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Introducing a boy. a girl said. " He 1s the son of the daughter of the father of my uncle". How 1s the boy related
to the girl?

1. Cousin

()

. Nephew

. Uncle

[F§]

4. Son-in-law



Options :

68634081677. 1
68634081678. 2
68634081679. 3
68634081680. 4

Question Number : 21 Question Id : 68634020676 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Who 1s world's  first female amputee 1s climb Mount Everest?

1. Tunko Tabei

()

. Arunima Sinha

. Malavati Puna

[ ¥]

4. Erika Weithehmayes

Options :

68634081681. 1
68634081682. 2
68634081683. 3
68634081684. 4

Question Number : 21 Question Id : 68634020676 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s world's  first female amputee 1s climb Mount Everest?

1. Tunko Tabei

()

. Arunima Sinha

. Malavati Puna

L]

4. Erika Weihehmayes

Options :

68634081681. 1
68634081682. 2
68634081683. 3
68634081684. 4

Question Number : 22 Question Id : 68634020677 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement I: Sahitya Academi Award 1s the second highest Indian Litracy Award. It 1s given in 22 languages.

Statement I1: B.K. Narayan wat the first recipient of Sahitya Academi Award. He got 1t for his book Malgudi
Days.

In the hight of the above statements. choose the correct answer from the options given below

1. Both statement I and Statement IT are true

[

. Bothe statement I and Statement IT are false
3. Statement I is true but statement II 1s false

4, Statement I 1s False but statement II 15 tiue

Options :

68634081685. 1
68634081686. 2
68634081687. 3
68634081688. 4

Question Number : 22 Question Id : 68634020677 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Sahitya Academi Award 15 the second highest Indian Litracy Award. It 1s given in 22 languages.

Statement I1: R_K. Narayan wat the first recipient of Sahitya Academi Award. He got it for his book Malgudi
Days.

In the light of the above statements. choose the correct answer from the options given below

1. Both statement I and Statement II are true

[

. Bothe statement I and Statement IT are false
3. Statement I is true but statement IT 1s false

4, Statement I 1s False but statement II 15 true

Options :

68634081685. 1
68634081686. 2
68634081687. 3
68634081688. 4

Question Number : 23 Question Id : 68634020678 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Books) LIST II (Writers)
A PMudrarakshasa I. |Panini
B. |Abhigvan Shakuntalam | 1. |Visakadatta
C. |Pancha Tantra IT1. |[Kalidasa
D JAshradhyayi IV |Vishnu Sharma

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| ]

AT B-IILL C-IV, D-I
3. A-IV. B-III. C-II. D-I

4. A-IIL. B-1. C-IV, D-IT

Options :

68634081689. 1
68634081690. 2
68634081691. 3
68634081692. 4

Question Number : 23 Question Id : 68634020678 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Books) LIST IT (Writers)
A PMudrarakshasa I. |Panim
B. |Abhigvan Shakuntalam | IL. |Visakadatia
C. |Pancha Tantra T [Kalidasa
D JAshradhyayi IV |Vishnu Sharma

Choose the correct answer from the options grven below:

1. A-I. B-II, C-III, D-IV

| )

CA-TL B-IIL. C-IV, D-I
3. A-IV. B-IIL. C-II. D-I

4. A-IIL. B-1. C-IV. D-II

Options :

68634081689. 1
68634081690. 2
68634081691. 3
68634081692. 4

Question Number : 24 Question Id : 68634020679 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A black hole is remnant of a massive star which has collapsed. It 1s a Volume of space where
gravitiy 13 so strong that nothing not even light can escape fun it.

Statement IT : Its presence was first announced by galileo Galili in 1783

In the light of the above statements. choose the correct answer from the option grven below

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false

. Statement I 15 false but statement II 1s false

L 5]

4, Statement I 1s false but Statement II 1s true

Options :

68634081693. 1
68634081694. 2
68634081695. 3
68634081696. 4

Question Number : 24 Question Id : 68634020679 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A black hole is remnant of a massive star which has collapsed. It 13 a Volume of space where
gravitly 18 so strong that nothing not even light can escape fun it.

Statement II : Its presence was first announced by galileo Galili in 1783
In the light of the above statements. choose the correct answer from the option given below

1. Both Statement I and Statement IT are trus

[ ]

. Both Statement I and Statement IT are false

. Statement I 1s false but statement IT 1s false

T

4. Statement I 1s false but Statement IT 1s true

Options :

68634081693. 1
68634081694. 2
68634081695. 3
68634081696. 4

Question Number : 25 Question Id : 68634020680 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rowlatt Act (1919) was passed through the Imperial Legislative Couneil to :

1. Increase taxes and custom duties on civilians

()

. Force villages to supply solders and there was forced recruitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody

suspected

4. Arrest workers who joined hands against racism

Options :

68634081697. 1
68634081698. 2
68634081699. 3
68634081700. 4

Question Number : 25 Question Id : 68634020680 Question Type : MCQ Option Shuffling : No Is Question Mandatory

: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rowlatt Act (1919) was passed through the Imperial Legislative Council to :

1. Increase taxes and custom duties on civilians

2. Force villages to supply solders and there was forced recruitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody

suspected

4. Arrest workers who joined hands against racism

Options :

68634081697. 1
68634081698. 2
68634081699. 3
68634081700. 4

Part B: Sports Physiology etc

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

686340410
2

Online
Mandatory
75

75

300

Yes

0

1
686340679
Yes



Is Section Default? : null

Question Number : 26 Question Id : 68634020681 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many calories you will get after having 1 gram of fat?

1. 4.2 Kcal

| B}

. 4.3 Keal

L]

. 7.5 Kcal

4. 9.1 Kcal

Options :

68634081701. 1
68634081702. 2
68634081703. 3
68634081704. 4

Question Number : 26 Question Id : 68634020681 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
% I19 U1 GH & 915 19! faod-1 dar! Her -
1. 4.2 fpal AR
4.3 et AR
3. 7.5 fopedl ARt
4.9.1 [l FaRT

Options :

68634081701. 1
68634081702. 2
68634081703. 3
68634081704. 4

| )

Question Number : 27 Question Id : 68634020682 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Accordmg to Richard Lazarus, which of the following 1s NOT an emotion resulting from harms. losses and
threats?

1. Envy

-

. Disgust
3. Guilt

4. Gratitude

Options :

68634081705. 1
68634081706. 2
68634081707. 3
68634081708. 4

Question Number : 27 Question Id : 68634020682 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ae aoRY & SAER FEfafad § § $H 9y &, 81 Td 21 &1 9o 781 82
15
. qon

33U

| B}

4. paxdl

Options :

68634081705. 1
68634081706. 2
68634081707. 3
68634081708. 4

Question Number : 28 Question Id : 68634020683 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following method is used to increase the muscle glycogen concentration?

1. Protein Loading

| ]

. Carbohydrate Loading

L%

. Fat Loading

4. Mineral Loading

Options :
68634081709. 1



68634081710. 2
68634081711. 3
68634081712. 4

Question Number : 28 Question Id : 68634020683 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafalRad § I == i 50 &1 3uan /asEeH UeTal & g8 & g fdar &1 82
1. Wi &1 fafe®s Ja=
 BIEERSC B SAfUd Ja-
3. U1 BT AP o
4. @S BT AP o

Options :

68634081709. 1
68634081710. 2
68634081711. 3
68634081712. 4

| ]

Question Number : 29 Question Id : 68634020684 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

XYZ is boy with klinefelter's syndrome, according to you what will be the most frequent method to diagnose
it?

1. Barr body test of buccal smear

| B

. There 1s no diagnostic method for it
3. Chorionic Villus Sampling

4, Blood Test

Options :

68634081713. 1
68634081714. 2
68634081715. 3
68634081716. 4

Question Number : 29 Question Id : 68634020684 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



XYZ FargThees RIgHH aTdl U ad® g: U TR 5961 UgdaH H- & [0 Ja9 Sugad [afd &1
Tt 8o

1. 8 &1 4@ [ORR TR ol
ZOE BT g ol g §
YU H SRfew Tsafsal Bt |ig

| ]

T

4. o Sl

Options :

68634081713. 1
68634081714. 2
68634081715. 3
68634081716. 4

Question Number : 30 Question Id : 68634020685 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 15 labelled as Assertion A and the other labelled as Reason B

Assertion (A): Lipids cannot be used during high intensity exercise

Reason (R): Lipids are an important source of energy during recovery period between high intensity bouts and
during prolonged aerobic exercises

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634081717. 1
68634081718. 2
68634081719. 3
68634081720. 4

Question Number : 30 Question Id : 68634020685 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



19 31 Py AU T §. U Sifieys & =0 4 fafad § d §¥R1 395 R & 9 1,
Sifiey=: 3= digar drel oOraTH & SR [AUs S S9diT el (a1 &l IHdl ¢ |

PRUT: 3 diad] dId oladl & aid 3R ardd J od 990 a WRIdd Gl & aRH Keddl safd d
faiftrs. ol &1 te Hew@yul Jid o

SRITd HYH & AT |, 7 f4u 70 fawedi § T 98! SR &1 904 SIIT:
1.ASRREA U €. 3IRR.ADI Fel ARAT &
2. ARREA TTE, 3R R. A DI Tel RSN 8l &

3. ATTE AR T ©

4 ATIE. APIRIAT

Options :

68634081717. 1
68634081718. 2
68634081719. 3
68634081720. 4

Question Number : 31 Question Id : 68634020686 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
For best performance in shot put, the angle of release should be
1. 45°

| ]

. Less than 45

(5]

. More than 45°

4. 90°

Options :

68634081721. 1
68634081722. 2
68634081723. 3
68634081724. 4

Question Number : 31 Question Id : 68634020686 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Qe ge H 3= UGTH & forg Refisr &1 v g =mfge -

1. 45°

| ]

45 Y
45> 9 3HfeE

4. 90°

[#5]

Options :

68634081721. 1
68634081722. 2
68634081723. 3
68634081724. 4

Question Number : 32 Question Id : 68634020687 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 15 labelled as Assertion A and the other labelled as Reason B

Assertion A: The gas exchange in the lungs and tissues occurs by diffusion

Reason R: Diffusion takes place from higher partial pressure to lower partial pressure, through thin capillary.
alveoli and cell walls

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634081725. 1
68634081726. 2
68634081727. 3
68634081728. 4

Question Number : 32 Question Id : 68634020687 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



19 g1 PuA AU T §. U Sifieys & =0 4 fafad § d §¥R1 395 R & 9 &,
fUmy: sl SR Sadi | arg fafaa fawror gr1 giar g1

PRT: AR 3= 3Mif¥e gara I FHad 3iifRe ga1d & SR gde il Uegardr JR SR o
IR & ATEH A BT B

SR Y & 3faid . i iU 7 fadeul # 3 g1 SR &1 9 Pifoiy:
A SRR G 9 8. SR R, A P Hel A=A ©

ASRREH I T, SR R. A DI U5l ARA el ©

AFTE. APAR 3ETT

4 AL AfPIR TS

—

| B}

T

Options :

68634081725. 1
68634081726. 2
68634081727. 3
68634081728. 4

Question Number : 33 Question Id : 68634020688 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

If a barbell of certain weight is lifted overhead to a certain height, the barbell held overhead will have Potential
energy. If the barbell is lowered, the potential energy will

1. Increase

| ]

. Decrease

L]

. Remains same

4. Gradually increase then decrease

Options :

68634081729. 1
68634081730. 2
68634081731. 3
68634081732. 4

Question Number : 33 Question Id : 68634020688 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1fg U FfEd ao9 & Ue aRAd &1 U& (i FIi a6 SR S AR Io-T &1l 8. 9 SR I8 U
TRew I fufas ol grft afe ared &t -9 far omar 8. Rufow 3ot |

1. gt

gt

A At

4. fR-IR Fgh. o= gt

Options :

68634081729. 1
68634081730. 2
68634081731. 3
68634081732. 4

| B}

T

Question Number : 34 Question Id : 68634020689 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT Match the type of cognitive process given List I with their respective explanation
given in List IT

LISTI LISTII

Taking new things, synthesizing information

A Memory L e i S e et =

) and integrating it with prior knowledge

B |Eeaming I Allf:n‘rs people to 'ra.ke in _1nfu:urmat10n through
their senses, then utilize it

& R L ‘55;110\'\'5 People to encode, store, and retrieve
information

D. [Perception v ..1‘1110“'5 p?ople to focus on a specific stimulus
in the environment

Choose the correct answer from the options given below:
1. A-IIL. B-1. C-IV. D-II
2. AL, B-1, C-I1, D-IV
3. A-IIL B-11. C-1. D-IV

4. A-l1, B-II. C-III. D-IV

Options :

68634081733. 1
68634081734. 2
68634081735. 3
68634081736. 4

Question Number : 34 Question Id : 68634020689 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



It 1 1 2 i ST vl 1 gt n < s 3! et e 3 gafid o -

Tt 1 gt I
3 Aol A1, Y1 BT G=eiyu Al 3R
A " o8 o 99 & 9w e

T bl SO gTedl & A1 @ oHbRl

B. |3 IL [oH &I M adl 6. e 39dT IugRT

ERGIE

& b g [Tl TSR TT8 T3, ¥R 3
: TR I i e @1 sAfd car |

D. s 1y [T 1 TOTaRr & Ue fAfRIp S o)
| |EH SiEd B @ yEfa ad B |

fFafafad [deeal & 3 98 IR &1 994 Hifog -

1. A-IIL B-L. C-IV, D-II

| B}

AL B-LL C-I1, D-IV

L]

AL B-I0, C-LL D-IV

4. A-L. B-II. C-III. D-IV

Options :

68634081733. 1
68634081734. 2
68634081735. 3
68634081736. 4

Question Number : 35 Question Id : 68634020690 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

During internal respiration, when diaphragm contracts. it forces the abdominal contents and

—t

. upward and backward

| o]

. down ward and forward
3. upward and forward

4. down ward and back ward

Options :

68634081737. 1
68634081738. 2
68634081739. 3
68634081740. 4

Question Number : 35 Question Id : 68634020690 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wgﬂ?%%.ﬁw%@m%.m%ﬁ?ﬁﬂmﬁaﬁ 3R @1 3R
UEAUGIN

1. W AR YIS
A SR 3
3. B AR A
4. =14 SR i

Options :

68634081737. 1
68634081738. 2
68634081739. 3
68634081740. 4

| )

Question Number : 36 Question Id : 68634020691 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other labelled as Reason B

Assertion A: The muscle fibers of a sprinter are capable of producing force at a high rate, but with low fatigue
resistance

Reason R: The sprinters have large number of fast fatigable (ff) motor units
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. A is true but R 1s false

4, A is true but B is true

Options :

68634081741. 1
68634081742. 2
68634081743. 3
68634081744. 4

Question Number : 36 Question Id : 68634020691 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 g1 PuA AU T §. U Sifieys & =0 4 fafad § d §¥R1 395 R & 9 &,

HTYSHYT: TP ol Y19 I HiGURT o 3o &3 IR 90 3cdd B3 4 T&H Bidl 6. dichd oY YHH Uiy
&y

PIRUT: I Y1dH & U gof &1 § BIe bhedd Hicd ghisdi eidl o
SR Y & 3faid . i iU 7 fadeul # 3 g1 SR &1 9 Pifoiy:
1. A SRR I U T, SRR AT T rE ©
2. A SRR G TA T, IR R. A DI Hgl ARA a1 &
3. AYA E. Afhd R 9 8

4 AL AfPIR TS

Options :

68634081741. 1
68634081742. 2
68634081743. 3
68634081744. 4

Question Number : 37 Question Id : 68634020692 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The kinetic energy of linear motion can be defined as:

1. One-half of a body's mass divided by the square of velocity

| )

. One-half of a body's mass multiplied by its velocity

[FN]

. One-half of a body's mass multiplied by the square of velocity

4. One-half of velocity multiplied by the square of its mass

Options :

68634081745. 1
68634081746. 2
68634081747. 3
68634081748. 4

Question Number : 37 Question Id : 68634020692 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



@ Tid B Ta Sl Bl 39 FBR gRuIiNG foar o 9o &:

1. SRR & SEHM ST 31T U 39 97 F @il g1 fafora gar 21
IR F FooHM & SHTET YT 39 37 3 oM gial o
3. YRR P GoiHT &7 ST YT 3T av1 & avl 3 07 feb ] &l 3 |
4. T 1T TP GEHM & i G o7 far S g |

Options :

68634081745. 1
68634081746. 2
68634081747. 3
68634081748. 4

| )

Question Number : 38 Question Id : 68634020693 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a ericket match, a player throws the ball from the boundary to the wicket keeper. Arrange the steps occurs
this process in a sequential order from start to end.

A. Centripital force

B. Projectile path

C. Angle of release

D. Centrifugal force

E. Landing area of ball

Choose the correct answer from the options given below:

LADC.E B

]

BB B €
3: A C BB

4.8, D CBE

Options :

68634081749. 1
68634081750. 2
68634081751. 3
68634081752. 4

Question Number : 38 Question Id : 68634020693 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U@ fopdhe 9 1, UF TS| 18 & aIdo! U [ddhe BIUR DI 3R Bbdl §| 59 Wihdl § 5 aId 9xull &)
hHES HH H IE I 3id 0% gafeyd H1|

A BT §d
B. W& OY

c. s @1 @i
D. b= §d
E. T &1 ofgm &7

I fu U f[deedl H§ ¥ 9l 30 &1 994 SIulT:

LA G HEB

2.8, DB, B, €
DA CE D

4.A.D.C.B.E

Options :

68634081749. 1
68634081750. 2
68634081751. 3
68634081752. 4

Question Number : 39 Question Id : 68634020694 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following bodies of Dietary Allowance for nutrients of various countries, in an order to their
establishment from oldest to latest

A. Human Nutritional Requirements. FAO/WHO

B. Food and Nutrition Board, USA

C. Nutrition expert commuttee, ICMR India

D. Panel of Recommended Allowances of Nutrients, UK

Choose the correct answer from the options given below:
1. A.B.C.D
2.2, D, ByA
3.D0,C.B,A

4. B.AC.D

Options :

68634081753. 1
68634081754. 2
68634081755. 3
68634081756. 4



Question Number : 39 Question Id : 68634020694 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

fafira <=1 & Uiv® dal & fau eR val & Fgfafad Fenl &1 uRfve O Tdiq9a9 @ 3991 -Ih-1 &
&H H ogaieyd di

A. T3 SR 9Vl el STaeaediu, U6 U, 3./ See, U4 311,
B. @I 3R U €18, 4. UH.T,

C. U fagies afafa, oms. 9. 3R, URd

D. UIN® ddl & SFRIRT 1wl &1 U, 4.

i,

Hd f4u 70 f[de el | ¥ 9ol 3R & 994 BI9I:

LABC.B

| B}

.C,D,B,A
3.D,C,BA

4.B.A.C.D

Options :

68634081753. 1
68634081754. 2
68634081755. 3
68634081756. 4

Question Number : 40 Question Id : 68634020695 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following food items in an order from less to high amount of carbohydrates received when
consume 100 grams of that particular food item.

A. Nuts and oilseeds
B. Pulses

C. Honey

D. Jaggerry

E. Roots and Tubers

Choose the correct answer from the options given below:

LABCDE

| ]

A E/BCD
3.0, B, B, E, A

4. E.D.C.B.A

Options :
68634081757. 1
68634081758. 2



68634081759. 3
68634081760. 4

Question Number : 40 Question Id : 68634020695 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

FafdRad |re el &1 39 @ uerd & 100 U9 a9 & R U Flaienac & H 9 UE A
®H § ogaRyd B |
A. T4 3R faaea

B. qld
C. e

D.TS
E. ol AR $g
1 fau U fasedl O T g1 3R &1 95 Bifeld:

LLAB.CDE

| ]

Ay BB, €,D
33 D.E.B.C. A

14 E. D, C B A

Options :

68634081757. 1
68634081758. 2
68634081759. 3
68634081760. 4

Question Number : 41 Question Id : 68634020696 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

"A number of individuals of the same species have come into the habitat from elsewhere during the time
period under consideration” the above statement shows which aspect for density of a population?

1. Natality

| o]

. Mortality
3. Emigration

4. Immigration

Options :

68634081761. 1
68634081762. 2
68634081763. 3
68634081764. 4



Question Number : 41 Question Id : 68634020696 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

AR THy 3@afi & SRE Ue Ueifd & &S ofad 9fadl § del 3R I 31U 8" SWRIad HY- o]
& 9@ & 10 HH T U5 & a9idl g7

1. o Hql

| )

TR
3. VAl

4. SHUdTHA

Options :

68634081761. 1
68634081762. 2
68634081763. 3
68634081764. 4

Question Number : 42 Question Id : 68634020697 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How much O, 1s required to oxidize fat to give 3.2 Kcal of energy?

1.1 gram
2.2 gram
3. 3 gram
4. 4 gram

Options :

68634081765. 1
68634081766. 2
68634081767. 3
68634081768. 4

Question Number : 42 Question Id : 68634020697 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



3.2 fopell FaRt ol o4 & U aa1 & SifaeieRur & o faeas e il & sawaddr sl 82

1.1UH

[ )

2 9H
3.39H

4,49

Options :

68634081765. 1
68634081766. 2
68634081767. 3
68634081768. 4

Question Number : 43 Question Id : 68634020698 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other labelled as Reason R

Assertion A: The most practical method to detect Protein Energy Malnutrition (P.E.M) is to maintain the
growth chart

Reason R: Protein energy malnutrition accounts for 30% of people in our country

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

-

. Both A and R are correct and R 1s NOT the correct explanation of A

3. Ais true but R 1s false

4, A 1s true but R is true

Options :

68634081769. 1
68634081770. 2
68634081771. 3
68634081772. 4

Question Number : 43 Question Id : 68634020698 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 31 Py AU T §. U Sifieys & =0 4 fafad § d §¥R1 395 R & 9 1,
YUY UIH ol HUINUI BT Gdl T ST Yo TagIND qeid] [dHT™ 91 Bl &1 &A1 ¢ |
BIROT: Wi Holl UMY SHAR &2 @ 30% ARl & [og oER g
SWRIFd PU & ard J, +i< fqU MU fowei & 1 9ol SR &1 = Sl
1. ASRREH TU 8, IR R A DI Hel ARAT B
A SRR EH TT T, SRR, A B TeT o T2l &
ATIR. APAR 3T T

4 AL IPIR TS

| o]

5]

Options :

68634081769. 1
68634081770. 2
68634081771. 3
68634081772. 4

Question Number : 44 Question Id : 68634020699 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tidal volume increases during exercise by encroachment on:

1. Inspiratory Reserve volume

| ]

. Expiratory Reserve volume

T

. Alvelor ventilation

4. Inspiratory and expiratory Reserve volume

Options :

68634081773. 1
68634081774. 2
68634081775. 3
68634081776. 4

Question Number : 44 Question Id : 68634020699 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STATH & SR SARIY e 69 IR AT gRI Seal & -
YT RI&T AT

—

| o]

T SRI& {9

 UcdieR dfeds
4. 2T 3R U4 ARIET AmE

LFS]

Options :

68634081773. 1
68634081774. 2
68634081775. 3
68634081776. 4

Question Number : 45 Question Id : 68634020700 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An athlete 1s performing squat exercise and during that. he is using 80% muscle fibres of Quadriceps group of
muscles. So according to "All or None law” how many percent of muscles are involved completely.

1. 40%

-
| )
]
(=]
-

4. 10%

Options :

68634081777. 1
68634081778. 2
68634081779. 3
68634081780. 4

Question Number : 45 Question Id : 68634020700 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TYTic Wde UaORdTsd B 381 § 3R 59 QR a8 PISUS THE 1 AUkl & 80% AU aq
BT SYURT BRI g1 I "3iTe 3R 7 Al & SUR PISU g &I AUl & fba ufawd giaa<h
o 31 ke U =i i

| ]
[
=
=
=



Options :

68634081777. 1
68634081778. 2
68634081779. 3
68634081780. 4

Question Number : 46 Question Id : 68634020701 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of group dynamies in which the group members gradually become more realistic as they come to
understand each other's qualities. characteristics, strength weakness is known as?

1. Storming
2. Forming
3. Conforming

4. Performing

Options :

68634081781. 1
68634081782. 2
68634081783. 3
68634081784. 4

Question Number : 46 Question Id : 68634020701 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g o niforefterar &t witean o o & v RN aifte gurfard) 81 90 § ife A s g &
07T, fa=Ivarail, e iR Sl &l T T 3. T8 ool a1 Hgadl 67

1. 33k
2. 7164

3. 3FET
4. Ue3H

Options :

68634081781. 1
68634081782. 2
68634081783. 3
68634081784. 4

Question Number : 47 Question Id : 68634020702 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Which of the following is NOT an appropriate method of Coping with stress?

1. Stop talking to friends and family

[ E)

. Regular health appointments. tests and screenings

L]

. Limited Alecohol intake

4. Get enough sleep

Options :

68634081785. 1
68634081786. 2
68634081787. 3
68634081788. 4

Question Number : 47 Question Id : 68634020702 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafaRad o 9 & 9 a9 3 e 1 3ugea faft 781 82
1. P SIR 9RaR & a1d B 65 B &l
Fraftd Wy 9o ey, gaon SR THiHT
3. HifHd TR1E &1 Yo
4. Tl g o

Options :

68634081785. 1
68634081786. 2
68634081787. 3
68634081788. 4

2

Question Number : 48 Question Id : 68634020703 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"The application of psychological principles to sports and physical activity at all levels of skill improvements
18 the crux of sports psychology”. the statements was given by?

1. Robert N. Singer

| ]

. Richard Cox

L)

. Margaret Brown and Michael Mahoney

4. Guddo Schilling

Options :
68634081789. 1



68634081790. 2
68634081791. 3
68634081792. 4

Question Number : 48 Question Id : 68634020703 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P IA GYR & FH 'R R T AR RIS Tfafy & 1w gaam-e fGidl @1 suan @a
TR &1 91$ §" | U8 $YA foas g fegr mar am

e . iR

T Biay

OFRE §13 U4 9156 d Hal
4. 781 Frfef

Options :

68634081789. 1

68634081790. 2

68634081791. 3
68634081792. 4

—t

| B}

LFN]

Question Number : 49 Question Id : 68634020704 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vitamin B7 is also known as.

1. Biotin

| S}

. Niacin

T

. Pyridine

4. Acid

Options :

68634081793. 1
68634081794. 2
68634081795. 3
68634081796. 4

Question Number : 49 Question Id : 68634020704 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faerfiF B7 B g0 T 9 W T oA € -
1. S

A

3. g

| o]

4. AR

Options :

68634081793. 1
68634081794. 2
68634081795. 3
68634081796. 4

Question Number : 50 Question Id : 68634020705 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: The extra celluar fluid contains large amount of sodium, chloride and bicarbonate ions
Statement II: The intra cellular fluid contains large amount of potassium. magnesium and phosphate 10ns

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

)

. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement II incorrect

4. Statement I 1s incorrect but Statement I correct

Options :

68634081797. 1
68634081798. 2
68634081799. 3
68634081800. 4

Question Number : 50 Question Id : 68634020705 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CAERICACURII S
YA I: ifaRad SIS ga & 951 71§ 9ifeud saREgs SR aEdEHe M 8id ¢
DY I1: ARD PIRBT 5a § a5t 7E1 H greios iRy ik B1ebe HET 8 |
SWRIFd PU & ard 3.+ fqU MU fodel & 1 Hel SR &1 = ST

1. Y1 AR I &HI 9 §
YA 1 SR 11 T 3R ©

3. PYUT 1 I B, AP BUT 11 3T &

| ]

4. FYTIITI . AfpT PUT I IT &

Options :

68634081797. 1
68634081798. 2
68634081799. 3
68634081800. 4

Question Number : 51 Question Id : 68634020706 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT Match the terminologies of variations in chromosome

LISTI LISTII
A |Ansuploidy I. |2n = chromosome
B. |Trisomyv IO Pon+1
C. Monosomy III. |2n
D. |Disomy IV. 2n -1

Choose the correct answer from the options given below:

1. A-I1, B-1, C-II1, D-IV

)

CA-IL B-IL C-IV, D-II
3. A-I. B-1I. C-IV, D-III

4. A-1. B-II. C-IIL. D-IV

Options :

68634081801. 1
68634081802. 2
68634081803. 3
68634081804. 4

Question Number : 51 Question Id : 68634020706 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



07 AT F 11 B WegTac Bl 379 WPIH0] & WY fHaH & -
T 1 T 11

A. [srgforaT L o= X TURA
B. [PROREAAT | IL Pn+1

C. [SHTURE [ 111 Pa

D. [[d=bed IV -1

fFafefad [deeal & 3 98 IR &1 994 ifog -

1. A-II. B-I. C-IIL. D-IV

[ ]

CA-IL B-1, C-IV. D-II
3. A-L, B-1I. C-IV, D-III

4. A-L. B-1I. C-III. D-IV

Options :

68634081801. 1
68634081802. 2
68634081803. 3
68634081804. 4

Question Number : 52 Question Id : 68634020707 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which connective tissue sheath surrounds each fasciculus. also called as fascicle?

1. Myocardium

| )

. Epimysium

[ N]

. Endonmysium
4. Perimysium

Options :

68634081805. 1
68634081806. 2
68634081807. 3
68634081808. 4

Question Number : 52 Question Id : 68634020707 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DI 1 YIS FHaP @id U o] bl e Igdl o7
1. AEIPI STy
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Options :

68634081805. 1
68634081806. 2
68634081807. 3
68634081808. 4

| o]

Question Number : 53 Question Id : 68634020708 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which neuron/nerves conduct impulses outward from the brain or spinal cord?

1. Alpha Neurons / Nerves

o

2. Efferent Neurons / Nerves

T

. Afferent Neurons / Nerves

4. Beta Neurons / Nerves

Options :

68634081809. 1
68634081810. 2
68634081811. 3
68634081812. 4

Question Number : 53 Question Id : 68634020708 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I I TR/ BT 71 ¢ B 531 9 G16% B 3R AT BT HITaH Bl o2

1. 3Dl G-/
4. §ieT TRAEST

Options :
68634081809. 1

| B}

LFN]



68634081810. 2
68634081811. 3
68634081812. 4

Question Number : 54 Question Id : 68634020709 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following is known as the father of genetics?

1. Gregore Johann Mendel

[ E)

. W. Bateson

L]

. R.C Punnett
4. Morgan

Options :

68634081813. 1
68634081814. 2
68634081815. 3
68634081816. 4

Question Number : 54 Question Id : 68634020709 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeied o 9 oo srailie! &1 oH® oel o1l 62
1. TR SileH Hsd
S S
R ge
4I vy
Options :
68634081813, 1
68634081814. 2

68634081815. 3
68634081816. 4

| B}

T

Question Number : 55 Question Id : 68634020710 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Out of the following which form of covalent bond 1s found between amino acids to form protein primary
structure.

1. Ionic Bond

| ]

. Hydrogen Bond

LS}

. Glycoside Bond

4. Peptide Bond

Options :

68634081817. 1
68634081818. 2
68634081819. 3
68634081820. 4

Question Number : 55 Question Id : 68634020710 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

fafafad d I yufie 9= | WdH 99 & A oiiiF tirs & &9 9e9giee a9 & &5 91 &9
T ST -

1. 3P §Y
NEEIEGEL

3, TADMSS §¢
4. UUISS §Y

Options :

68634081817. 1
68634081818. 2
68634081819. 3
68634081820. 4

| B}

Question Number : 56 Question Id : 68634020711 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which body part/ organ. ammonia 1s converted into urea?

1. Muscles

| §)

. Kidney

L]

. Spleen
4. Liver

Options :



68634081821. 1
68634081822. 2
68634081823. 3
68634081824. 4

Question Number : 56 Question Id : 68634020711 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

ST TR & farg yrsiT & g & uRkafdd eidl 82
R

T (s

. ilgT (Feii)

4. TP

Options :

68634081821. 1
68634081822. 2
68634081823. 3
68634081824. 4

| )

Taa

Question Number : 57 Question Id : 68634020712 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

What 1s the total no. of protein coding genes present on the 23 pairs of chromosomes in human beings?

1. 15.000 to 20,000

| )

. 20.000 to 25,000
3. 10,000 to 15.000

4. 25.000 to 30,000

Options :

68634081825. 1
68634081826. 2
68634081827. 3
68634081828. 4

Question Number : 57 Question Id : 68634020712 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O B TR & 23 Sie! IR Higg Ui DITST il &1 $a 6] [ gidl 67
1. 15.000 ¥ 20.000

. 20,000 T 25,000

| Se]

3. 10.000 T 15.000

4. 25.000 I 30,000

Options :

68634081825. 1
68634081826. 2
68634081827. 3
68634081828. 4

Question Number : 58 Question Id : 68634020713 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the stages of psychosexual development given by Freud in a sequential order from first to last.

A. Phallic stage
B. Latency

C. Anal stage
D. Genital stage
E. Oral stage

Choose the correct answer from the options given below:

LEC.DAB

| S}

B, DA B
3 EC:ABD

4. C.E.A.B.D

Options :

68634081829. 1
68634081830. 2
68634081831. 3
68634081832. 4

Question Number : 58 Question Id : 68634020713 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WIS gRT {30 U Tieifie faema & =Rl & usd & 21fEs) ao ouafd &3

A. Bl @Rl
B. dcdl

C. T9d =01
D. Sif-ed 930
E. 3R =Rl

4 fog U et A @ W€ SRR

LEC.DAB

| B}

C.E.D.AB
3.E.CLA.B.D

4 CBEABD

Options :

68634081829. 1
68634081830. 2
68634081831. 3
68634081832. 4

Question Number : 59 Question Id : 68634020714 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the interspecific interactions arised from the interaction of population of two
different species?

A, Mutualism

B. Humanism

C. Commensalism
D. Parasitism

Choose the appropriate answer from the options given below:

1. A B. and C only

[ )

.B. C and D only
3.B and C only

4. A, C, and D only

Options :

68634081833. 1
68634081834. 2
68634081835. 3
68634081836. 4



Question Number : 59 Question Id : 68634020714 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

frgfofad 5 @ oF- 3 i vonfag! &t o @ 3 feegr © Sad iR g faead g2

A, FURad
B. HHadAg
C. FeYifard
D. GRuilfadr

= fau ¢ fdeedi § 9 91 3R IiHT:
1. ®adA. B AR C
2. %ad B, C AR D
3.%adB AR C
4. Pad A, C 3R D

Options :

68634081833. 1
68634081834. 2
68634081835. 3
68634081836. 4

Question Number : 60 Question Id : 68634020715 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Fatty Acids are the simplest form of lipid

Statement II: The liver is the major site for fatty acids synthesis

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

| ]

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement I incorrect

4, Statement I 1s incorrect but Statement II correct

Options :

68634081837. 1
68634081838. 2
68634081839. 3
68634081840. 4



Question Number : 60 Question Id : 68634020715 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CIEEACUR g
HYT I: B2l TS T4 BT Had T U §
HY 11: el Uit Gxawyr & o ugd wE wHE B
SWRITd ®Y & 3falid 3, i< f3u 1Y fadheui & 9 981 SR &1 98 Hifolt;
1. PYA1 IR GH Td &
HYA 1 3R 11 ST SR §

3. YT 1 I B, AP SUT 11 T &

| B}

4. PYT] I . AT PUT I T &

Options :

68634081837. 1
68634081838. 2
68634081839. 3
68634081840. 4

Question Number : 61 Question Id : 68634020716 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Which among the following has given the theory of Idiographic approach of personality?

1. Raymond B. Cattell

| )

. W. H. Sheldon

[FN]

. Hans Eysenck

4. Gordon All port

Options :

68634081841. 1
68634081842. 2
68634081843. 3
68634081844. 4

Question Number : 61 Question Id : 68634020716 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiad # 9 fou it & fou qamn gl &1 st efpei faar g?
1. 3HS & ded

2. Sy, U, Qies
3. 89 3gdd
4. TS 3ffaared

Options :

68634081841. 1
68634081842. 2
68634081843. 3
68634081844. 4

Question Number : 62 Question Id : 68634020717 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following, which elements is produced and added in excess amount into blood when someone
consumes protein in greater amount than required.

1. Calcium
2. Magnesium
3. Nitrogen

4, Potassium

Options :

68634081845. 1
68634081846. 2
68634081847. 3
68634081848. 4

Question Number : 62 Question Id : 68634020717 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

d $5, ofad Uifed &1 a7 Ut Aavgadl ¥ A dr & df Fafafaa § 9 oF-1 9@ ifdes amn
T 3T Bl B Yad § fia war g

1. Bfekram
BRI
3. EGIoH
4. Uref¥rag

Options :

| o]



68634081845. 1
68634081846. 2
68634081847. 3
68634081848. 4

Question Number : 63 Question Id : 68634020718 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Force whose line of action does not pass through the center of gravity of an object 18 known as

1. Concentric force

| B}

. Eccentric force

T

. Concurrent force
4. Compressive force

Options :

68634081849. 1
68634081850. 2
68634081851. 3
68634081852. 4

Question Number : 63 Question Id : 68634020718 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
9% a9 oD B B B (6= farel a%g & [ocaiB YVl -5 U -g] ToiRd 8. 34 & Y H S
EIGI
1. gdhfad §d
 Gebisd §d
3. gHdl a9
4. Ipfd e

Options :

68634081849. 1
68634081850. 2
68634081851. 3
68634081852. 4

| B}

Question Number : 64 Question Id : 68634020719 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



The total volume of blood pumped by the ventricle per minute is called as 4

1. Ejection fraction

[ E)

. Stroke volume

L& %]

. End-systolic volume

4. Cardiac output

Options :

68634081853. 1
68634081854. 2
68634081855. 3
68634081856. 4

Question Number : 64 Question Id : 68634020719 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dficed gRTUd e Uy fu U 39 &1 S O &l Hel A gl

1. 2ulgRIH el

| ]

Kl 3 (diegH)
4. PISUD 33eYe

Options :

68634081853. 1
68634081854. 2
68634081855. 3
68634081856. 4

T

Question Number : 65 Question Id : 68634020720 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Sheldon's classification of Personality on the basis of Physical characteristics are Endomorphie,
Mesomorphic and Ectomorphic

Statement IT: Jung's classification of personality are Viscerotonic. somatotonic and Cerebrotonic
In the light of the above statements. choose the most appropriate answer from the options given below:

1.
Both Statement I and Statement II are correct

| B

. Both Statement I and Statement IT are incorrect
3. Statement [ is correct but Statement II incorrect

4. Statement I is incorrect but Statement II correct

Options :

68634081857. 1
68634081858. 2
68634081859. 3
68634081860. 4

Question Number : 65 Question Id : 68634020720 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
al Py flau U E:
%I_T?-HI: Teifthe, a9Hifthe g vaemiithe e fogvarsi & anyR IR ies & oufddd arffeeo
l
YA I1: ST & oo qHPR0l [GERIee, FHelel-e SR AXse-d 3|
SWRIFd BYH & ATalie H, 1= f3u MU fddhedl § I 96l Iugad 3R &1 98- DIfeIg:
1. Y1 AR I &HI 9 §
BYA T AR GH SET ©

3. PUTI I S, dfpT dy 11 3 d ©

| ]

4 BT I T AP Py I g

Options :

68634081857. 1
68634081858. 2
68634081859. 3
68634081860. 4



Question Number : 66 Question Id : 68634020721 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

In reference to the vector quantities.

A. Torque is a kinematic vector quantity

B. Weight is a kinetic vector quantity

C. Digplacement 1s a kinetic vector quantity'
D. Pressure is a kinematic vector quantity

E. Acceleration is a kinematic vector quantity

Choose the correct answer from the options given below:

1. A and E only

[ )

.B and E only
3.Aand D only

4. B and D only

Options :

68634081861. 1
68634081862. 2
68634081863. 3
68634081864. 4

Question Number : 66 Question Id : 68634020721 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
I [@gex) aiREi & gy 7.

A T U Mias gy I g
B. YR U& Tfae gfag A g
c. oo e Tifae afgw i @
D. 516 U Tide! Irae A g
E. @] U Tida! 9iew af 8|

i fau U fasedl O T g1 3R &1 95 Bifed:
1. %ad A AR E
2. Pqu B JARE
3. %ad A 3R D
4.%adA B 3R D

Options :
68634081861. 1
68634081862. 2



68634081863. 3
68634081864. 4

Question Number : 67 Question Id : 68634020722 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

What represents the object's mass distribution with respect to a given axis of rotation?

1. Moment of inertia

o

2. Radius of inertia

L%}

. Diameter of gyration
4. Radius of gyration

Options :

68634081865. 1
68634081866. 2
68634081867. 3
68634081868. 4

Question Number : 67 Question Id : 68634020722 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
YUI & [ 1T sigf & Ty & aqsil & YR & [aavul o wiafHid ®1F $dl o2
1. TS BI &7
.8 Pl e
3. URYHU & T
4. GRyHY BT =

Options :

68634081865. 1
68634081866. 2
68634081867. 3
68634081868. 4

| )

Question Number : 68 Question Id : 68634020723 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is an example of point mutation, which 1s arised due to the change in a single base pair
of DNA?

1. Colour Blindness

2. Sickle Cell Anemia

LS}

. Polycythemia vera

4. Rheumatoid Arthritis

Options :

68634081869. 1
68634081870. 2
68634081871. 3
68634081872. 4

Question Number : 68 Question Id : 68634020723 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁgﬁ%@ﬁﬁ%ﬁ?mﬁgwﬁaﬁ?mm%ﬁﬁﬁmﬂﬁiwaﬁ@ﬂﬁwﬁﬂ?haiww

1. gUIEeT

R 9 it
3. areffEE 3
FHTISS SRIEiey

Options :

68634081869. 1
68634081870. 2
68634081871. 3
68634081872. 4

| )

e

Question Number : 69 Question Id : 68634020724 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following groups of food 1s not recommended according to the ICMR. guidelines of Meal
Planning.

1. Protective Food Group

-

. Fats and Oils. Sugars and Jiggery Group
3. Cereal and Millets Group

4. Secondary Body Building Foods Group



Options :

68634081873. 1
68634081874. 2
68634081875. 3
68634081876. 4

Question Number : 69 Question Id : 68634020724 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T 31 0H. 3R, & FEITaR HioH & HaieH & w9 8 FafdaiEd HieH & 95Hg] 8 3 & H-91 SRR
el fpur ST 22

YR THD T THE

[e—

| )

3. TS 3R SToRT HHE
4. 77707 TR (07 E1e] 958

Options :

68634081873. 1
68634081874. 2
68634081875. 3
68634081876. 4

Question Number : 70 Question Id : 68634020725 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Condition in which a segment of a chromosome breaks away, Completely reverses itself and reattaches
with the chromosome is know as

1. Deletion

| B

. Duplication
3. Inversion

4, Translocation

Options :

68634081877. 1
68634081878. 2
68634081879. 3
68634081880. 4

Question Number : 70 Question Id : 68634020725 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



9% Rl o TURE 1 Us |08 €2 9Ial §. U31 dR6 § 3¢ oidl g SR U & 91y [t oS &ral 3.
Gi & =0 4 9H 1l 6|

1. fadgg
eI pa)

| B}

3. TEHHT
4, RIFTRUT

Options :

68634081877. 1
68634081878. 2
68634081879. 3
68634081880. 4

Question Number : 71 Question Id : 68634020726 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

What 1s the end product of glycolysis. if muscle contraction occurs under acerobic condition?

1. Water

| )

. Pyruvate

[N

. Glycerate

4, Lactate

Options :

68634081881. 1
68634081882. 2
68634081883. 3
68634081884. 4

Question Number : 71 Question Id : 68634020726 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
TSP IAISRIY P SifdH IS 91 ¢ afe Higuh &1 dpa- Wiids saw § gid s -
1. O
RILCE
3. TG
4, daee

Options :

| S}



68634081881. 1
68634081882. 2
68634081883. 3
68634081884. 4

Question Number : 72 Question Id : 68634020727 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |Glucose I. |Polysacchandes
B. [Sucrose II. PMonosaccharides
C. [Veracose II1. |Oligosaccharides
D. |Glycogen IV [Disacchandes

Choose the correct answer from the options given below:

1. A-I1. B-IV. C-I, D-III

{ ]

. A-IL. B-IV. C-II1. D-I
3. A-L. B-IV. C-III. D-II

4. A-L. B-II. C-III. D-IV

Options :

68634081885. 1
68634081886. 2
68634081887. 3
68634081888. 4

Question Number : 72 Question Id : 68634020727 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



el 1 51 G 11 O foraH ifeg

T I T 11
b L |uic SarIsSd
gehldl 1L [{H TaRESd
EMEIE 1L [3iiciTl §aRZ S

EIFFIEE] IV, [algHdNIg 5
fgiaRad f[d®eal & © 9l 3u &1 999 Hiold

1. A-II. B-IV. C-1. D-III

olo[w[

[ ]

. A-ITL B-TV. C-II1, D-I
3. A-I, B-IV. C-III. D-II

4. A-L. B-1I. C-III. D-IV

Options :

68634081885. 1
68634081886. 2
68634081887. 3
68634081888. 4

Question Number : 73 Question Id : 68634020728 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT with the theories of motivation and their authors

LIST I Theories LIST 1T Authors
A |Instinct Theorv I. |Abraham Maslow
B. [Drive Theory II. |Clark Hull
C. [Need Theory IIT. [William Mc Dougal
D. [Feinforcement Theory] IV. [Charles Skinner

Choose the correct answer from the options given below:

1. A-IIL B-11, C-1, D-IV

{ ]

A-TIL B-1. C-IV, D-II
3. A-IL B-II1. C-I, D-IV

4. A-IIL B-11, C-IV, D-I

Options :

68634081889. 1
68634081890. 2
68634081891. 3
68634081892. 4



Question Number : 73 Question Id : 68634020728 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

T 1 R e R o1 et 1 9 g e et @ e

= 1=

Hd Uad &l [agd | 1 |eeed 2gal
S15d & g 1L [dflch g
Haggad! Bl <] 11 [fafeam e g
EfcieR 1 g | IV. i R

fafafad [deeal & 1 98l IR &1 994 ifoiu -

1. A-IIL B-II. C-I. D-IV

o[e]w]>

|5

CA-TILL B-1. C-IV, D-II
3. A-IL B-III, C-I. D-IV

4. A-III. B-II. C-IV, D-I

Options :

68634081889. 1
68634081890. 2
68634081891. 3
68634081892. 4

Question Number : 74 Question Id : 68634020729 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: DNA and RNA are the two types of nucleic acids found in living systems

Statement IT: RNA acts as the genetic material in most of the organisms. DNA though acts as genetic material
in some viruses but mostly fictions as a messenger.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| ]

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement I incorrect

4, Statement I 1s incorrect but Statement II correct

Options :
68634081893. 1



68634081894. 2
68634081895. 3
68634081896. 4

Question Number : 74 Question Id : 68634020729 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i gl By iRy T B
FYTL: ST, 3R R .UA.U SEH &7 F UIe &4 a7 &1 gfeas R g

BT I1: IR, AFH il § Sraifie il & &9 8 &1 &ear ¢ | gidife o U { $& [aumusii
¥ 3R Ul & =0 T S Rl 6. A SUIGIaR dicdd Yagdied & =4 H 1 adl o |
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| B}

4. PYT] I . AT PUT I T ©

Options :

68634081893. 1
68634081894. 2
68634081895. 3
68634081896. 4

Question Number : 75 Question Id : 68634020730 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Amongst the following food items. which one contains little complex carbonhydrates?

1. Rice

| o]

. Bread

(5]

. Fruit

4, Pasta

Options :

68634081897. 1
68634081898. 2
68634081899. 3
68634081900. 4

Question Number : 75 Question Id : 68634020730 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1
frgfefad @ yardf & @ g @ 9erd @ o ofea selesec g
1. d919d

83

| S}

3.%d

4. YT

Options :

68634081897. 1
68634081898. 2
68634081899. 3
68634081900. 4

Question Number : 76 Question Id : 68634020731 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following. which vitamin is NOT stored in liver?

1. Vitamin A

[ E)

. Vitamin C

L]

. Vitamin D

4, Vitamin K

Options :

68634081901. 1
68634081902. 2
68634081903. 3
68634081904. 4

Question Number : 76 Question Id : 68634020731 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiEd o ¥ S1H-91 [gefie dia? (@ed) O 9Usid 78 sld1 82
1. faeifi= -1
fqerfim - <t
3. faerfa - St
4. faaf - o

Options :
68634081901. 1

| o]



68634081902. 2
68634081903. 3
68634081904. 4

Question Number : 77 Question Id : 68634020732 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Which among the following is NOT correct in reference to the Pentose Phosphate Pathway?

1. It 1s an alternate route for the metabolism of glucose

| ]

. It lead to the formation of ATP

L%}

. It lead to the formation of NADPH

4. Tt synthesises ribose for nucleic acid formation

Options :

68634081905. 1
68634081906. 2
68634081907. 3
68634081908. 4

Question Number : 77 Question Id : 68634020732 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
UEIS BIte uryd & ey 1§ FafdfEd o 9 H el 76l 62
T TSI & T BT TP Ihfede Il o
TR U F P 3 3R SERR @A B
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Options :

68634081905. 1
68634081906. 2
68634081907. 3
68634081908. 4

[e—

| B}
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b

Question Number : 78 Question Id : 68634020733 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The process of producing glucose from non-carbohydrate sources such as lactate pyruvate and glyerol 13
termed as?

—

. Glycolysis

-

. Glycogensis
3. Gluconeo genesis
4. Glyco genolysis
Options :
68634081909. 1
68634081910. 2

68634081911. 3
68634081912. 4

Question Number : 78 Question Id : 68634020733 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

68634081909. 1
68634081910. 2
68634081911. 3
68634081912. 4

Question Number : 79 Question Id : 68634020734 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a type of Internal Process theories of motivation?

1. Incentive Theory

| )

. Instinct Theory

LN ]

. Drive Theory

4. Need Theory

Options :
68634081913. 1



68634081914. 2
68634081915. 3
68634081916. 4

Question Number : 79 Question Id : 68634020734 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634081913. 1
68634081914. 2
68634081915. 3
68634081916. 4

Question Number : 80 Question Id : 68634020735 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Which among the following 18 commonly called as "GLOW" Foods?

1. Food rich in fats and oils

| )

. Foods rich in minerals and vitamins

[ N]

. Food Rich in Protein

4. Foods rich in carbohydrate and fats

Options :

68634081917. 1
68634081918. 2
68634081919. 3
68634081920. 4

Question Number : 80 Question Id : 68634020735 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafefed 9 2 foog gmraa: 3y g2 a1e 9T &gl 9l 82
1. s g7 3R O are HieH

siftres @fae 3R arerfie arar YieH

3. e Wife gre HisH

| So]

4, 4w FEleEee 3R IO g HisH

Options :

68634081917. 1
68634081918. 2
68634081919. 3
68634081920. 4

Question Number : 81 Question Id : 68634020736 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of ATP's are produced from the complete oxidation of 1 mol of Glucose?

112

| B}

24
3.38

4.02

Options :

68634081921. 1
68634081922. 2
68634081923. 3
68634081924. 4

Question Number : 81 Question Id : 68634020736 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@I & 1 0] & Jof Siffiexor ¥ faa- Tt &1 ST gidl 62

1,12

| ]

.24
3.38
4.02

Options :

68634081921. 1
68634081922. 2



68634081923. 3
68634081924. 4

Question Number : 82 Question Id : 68634020737 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other labelled as Reason R

Assertion A: In Autosomal dominant disorder the normal allele is recessive and the abnormal allele 1s
dominant

Reason R: Dwarfism is a type of Autosomal dominant disorder

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A

3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634081925. 1
68634081926. 2
68634081927. 3
68634081928. 4

Question Number : 82 Question Id : 68634020737 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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SfUFHYT (A): TF e yye! [AeR 5 9|y (e da) srefia syl Sik S/ 3fdtd

GHfeE) gHTd BT 81

BROT (R): Y [P UDPR &1 SHiciHHd YE [daR g
SURIER YA & el |, i iU U fasdheul & 9 T Iugad 3Tk B 99+ Hifeil:

1.ASRREA U €. 3IRR.ADI Fel ARAT &
2. ARREA TTE, 3R R. A DI Tel RSN 8l &
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4 AL AfPIR TS

Options :

68634081925. 1
68634081926. 2
68634081927. 3
68634081928. 4

Question Number : 83 Question Id : 68634020738 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Arrange the sequence of Forward Genetics in an order from first to last.

A, Mutant Alleles
B. Protein

C. Phenotypic Variations
D. DNA/ Gene

Choose the correct answer from the options given below:
1.AC.D.B
2ACBD
3.C.A,D.B

4.C.A. B.D

Options :

68634081929. 1
68634081930. 2
68634081931. 3
68634081932. 4

Question Number : 83 Question Id : 68634020738 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

BRIS AMAIRE & HH D! Ued J MREH do sHafeyd & -

A. IANadl oHfed dd
B. Hifed

C. BAerRU® fafgedn
D. SLUA.T/ S

3 fag O et A @ € SRR

1.A,C,D.B

| )

ASEB 1D
3.C,AD,B

4.C.A,. B.D

Options :

68634081929. 1
68634081930. 2
68634081931. 3
68634081932. 4

Question Number : 84 Question Id : 68634020739 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct in reference to the Glycolysis and oxidation of Pyruvate.

A. Glycolysis is regulated by six enzyme category of non equilibrium reactions

B. Lactate 1s the end product of glycolysis under aerobic condition

C. Glycolysis is the cytosolic pathway for the metabolism of glucose to lactate only
D. Pyruvate is oxidized to Acetyl-CoA

Choose the appropriate answer from the options given below:

1. A B only

-2

.B.D only
3.B. C only

4.C.D only

Options :

68634081933. 1
68634081934. 2
68634081935. 3
68634081936. 4

Question Number : 84 Question Id : 68634020739 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
qre¥=de & Sfiqdiau gyl /Weeianiy & deu § HufafEa § O oH-1 o= 98t &2

A TTSHIAE Y B TR Tqa widisars &1 3eRd @3 aTd 6 TTesH-4 gRI HaEd fdar sdr s |
B. tldce Wifg® T & ded gdias iy &1 3ifdH 3drg 8|

C. TAISHIAIS R $Had IqdH Il & JaT9d- Dl ddce P & ey Hge e Ja9=d TF g

D. UIg=dc &I URIeEa-SIuegd & sifadiad ol S g

= fau U f[deedi § ¥ Iuged STk gHU:
1.Pad A. B

. PAAB.D

. ®dUB. C

4. HddC, D

Options :

68634081933. 1
68634081934. 2
68634081935. 3
68634081936. 4

| S}

L]

Question Number : 85 Question Id : 68634020740 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word Cohesion is rooted in a Latin expression "Cohaesus" which means 7

1. Relieve

[ E)

. Cleave
3. Heave

4, Sieve

Options :

68634081937. 1
68634081938. 2
68634081939. 3
68634081940. 4

Question Number : 85 Question Id : 68634020740 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Yeg U dfeH sifoafad "l § Ffgd 8. forger el &:
IS (ila)
3 (519
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Options :

68634081937. 1
68634081938. 2
68634081939. 3
68634081940. 4

—

| S

T

Question Number : 86 Question Id : 68634020741 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Arrange the sequence of steps involved in citric Acid cycle from first to last.

A. Formation of Isocitrate

B. Formation of Succinate

C. Formation of Fumarate

D. Formation of Ketoglutarate
E. Formation of citrate

Choose the correct answer from the options given below:

1.LEA.B.D.C

| ]

B, Bya D
3B AD BC

4 EB.C.D.A

Options :

68634081941. 1
68634081942. 2
68634081943. 3
68634081944. 4

Question Number : 86 Question Id : 68634020741 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feu L faheyl § ygd ¥ Sifd™ d Trgics 31 = H Qe =R0N & HY & Sqaied D -

A. ITSHIRTCe BT A
B. IRiHe &1 FHio

1.EABD.C

| ]

BB A D C
3.B,A. D, B, C

4.E,B,C.D,A

Options :

68634081941. 1
68634081942. 2
68634081943. 3
68634081944. 4

Question Number : 87 Question Id : 68634020742 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

What are the general functions of lobes of cerebrum?

A. Frontal lobe do the visual input and interpretation

B. Temporal lobe do the auditory input and interpretation

C. Parietal lobe do the general sensory mput and interpretation
D. Occipital lobe do the functions linked to emotions

E. Insular lobe do the general intellect and motor control

Choose the correct answer from the options given below:

1. B. E only

[ )

LA, Conly
3.B. C only

4. A, B only

Options :

68634081945. 1
68634081946. 2
68634081947. 3
68634081948. 4



Question Number : 87 Question Id : 68634020742 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Iea o di" & G- S 187

A. Thed did €0 599E &d & SR 3981 oI Sdl o |

B. STIRT Ald 4aU1 379 &d & SiR 3@ URed d 2 |

c. URTed die 91 Hddl 29YE 4d § 3R 391 IR Hd o |
D. Jidled i YiaTrell 9 S &1 & 5 |

E. 3R 4 99 gie 3R Hiex a0 39S &1 #3d § |

-t fau g fasedl & § B8l SR 9T
1.%du B, E

PAAA, C

3.$duB. C

4. AT A, B

Options :

68634081945. 1
68634081946. 2
68634081947. 3
68634081948. 4

| ]

Question Number : 88 Question Id : 68634020743 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of following Vitamins. excessive intake of which Vitamins are toxic for our health.

Choose the correct answer from the options given below:

1. A. B and C only

| )

.A. B and D only
3.Aand D only

4. B. C. and D only

Options :
68634081949. 1
68634081950. 2



68634081951. 3
68634081952. 4

Question Number : 88 Question Id : 68634020743 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

fafafad faefiq & O ooy faerfim o1 sorer 99+ 89N Wy R [98d Wy Sadi gl

AR

B. dl,
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Options :

68634081949. 1
68634081950. 2
68634081951. 3
68634081952. 4

B}

faad

Question Number : 89 Question Id : 68634020744 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The linear inertia 18 dependent on only one variable {mass)
Statement II: The angular inertia is dependent on two variables mass and the distribution of mass

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

¥

. Statement I is true but Statement II is false

4, Statement I 15 false but Statement II is true

Options :

68634081953. 1
68634081954. 2
68634081955. 3
68634081956. 4

Question Number : 89 Question Id : 68634020744 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 31 Py R U &:
Y I: ST Se@ dad U o) (GouHF) R iR Bl
HY II: DIV T5cd &l IR P G R GoidH & faaru R R g1
SWIFd U & 3fare J, +i< fqU T foe el & 9 9ol SR &1 9 il
1LY AR I GHI 5 &
HY 1 AR I AT S ©

3. YT IIT S, AP PUT 1 3ET §

| ]

4 PYT IO TPy I a9

Options :

68634081953. 1
68634081954. 2
68634081955. 3
68634081956. 4



Question Number : 90 Question Id : 68634020745 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other labelled as Reason B

Assertion A: A research by Kanehisa et. all (1994) shows that elbow flexor and extensor muscles of men were
stronger as well as exert more force than women

Reason R: Men have greater cross-sectional area in their muscle than women
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct and R 1s NOT the correct explanation of A
3. Ais correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634081957. 1
68634081958. 2
68634081959. 3
68634081960. 4

Question Number : 90 Question Id : 68634020745 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 g pua fag T &

HYF I: DI Ud T (1994) GRI 6T 70 U WY J Gl Tl b G0 Bi Dig-l D1 TR AR
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HYA 1 IR 11 SR §

3. PUTIOA S, AT pUT I T ©

[ B}

4. PYTI I 8. AfpT PYT I I ©

Options :
68634081957. 1
68634081958. 2



68634081959. 3
68634081960. 4

Question Number : 91 Question Id : 68634020746 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the symptoms of Manic Episode in Bipolar Disorder?

A. Increased or faster speech

B. Despair

C. Dastractibility

D. Uncontrollable Racing Thoughts

Choose the correct answer from the options given below:

1. A B and C only

| ]

. A, C and D only

L]

. A, B and D only

4. B.C and D only

Options :

68634081961. 1
68634081962. 2
68634081963. 3
68634081964. 4

Question Number : 91 Question Id : 68634020746 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&l ydiy faR (arguleR ($9smsy) d Afe uftdrs & qaur o1 82

1. ofofl 9 a1 3ifee dier

R

A HT T
4. T ¥U 9 Ersd gu fdar

Options :

68634081961. 1

68634081962. 2

68634081963. 3
68634081964. 4

| ]

T

Question Number : 92 Question Id : 68634020747 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other labelled as Reason R
Assertion A: Adolescent spurt of growth has a far greater proportional magnitude for weight than for height

Reason R: This is generally due to tendency to accumulate large quantities of Protein in sub-cutancous tissue
in this period

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

| B

. Both A and R are correct and R is NOT the correct explanation of A

3. Ais true but R is false

4. A is true but B is true

Options :

68634081965. 1
68634081966. 2
68634081967. 3
68634081968. 4

Question Number : 92 Question Id : 68634020747 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CICRICREURIIS
HYT I: [oTRaR1 T gfe, & SRE G313 B qa-1 T aoi & [ad Bl e sirfae gikam gidl
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[ B}

4. PYTI I 8. AfpT PYT I I ©

Options :

68634081965. 1
68634081966. 2
68634081967. 3
68634081968. 4



Question Number : 93 Question Id : 68634020748 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTIT

Cramial Nerves and Spinal
Nerve

Conduct Impulse from CNS
to Skeletal muscles

C. |Peripheral Nervous System | II1. [Brain and Spinal cord
Conduct Impulse from CNS
to smooth muscles

A |Central Nervous System L

B. |Autonomic Nervous System| IL

D. |Somatic Nervous System A

Choose the correct answer from the options given below:
1. A-IV. B-III. C-IL. D-I
2. A-IIL B-IV. C-II. D-I
3. A-IV. B-III, C-I. D-II

4. A-IIL. B-IV, C-1. D-II

Options :

68634081969. 1
68634081970. 2
68634081971. 3
68634081972. 4

Question Number : 93 Question Id : 68634020748 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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| ]

A-TIL B-IV, C-I1, D-I
3. A-IV. B-1I1, C-1. D-II

4. A-IIL, B-IV. C-I1. D-II

Options :
68634081969. 1



68634081970. 2
68634081971. 3
68634081972. 4

Question Number : 94 Question Id : 68634020749 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The fast fibers (fast twitch fibers) has less number of mitrochondria
Statement I1: The fast fibers (fast twitch fibers) has low resistance to fatigue

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement IT are false

3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement II is true

Options :

68634081973. 1
68634081974. 2
68634081975. 3
68634081976. 4

Question Number : 94 Question Id : 68634020749 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634081973. 1



68634081974. 2
68634081975. 3
68634081976. 4

Question Number : 95 Question Id : 68634020750 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following, in a sequence in respect to hypothalamus function to regulate body temprature

A. Decreased blood temperature is sensed by Hypothalamus
B. Skelcal muscles causses shivering

C. Vaso constriction occurs in skin blood vessels

D. Decreased blood or skin temperature

E. Body temperature increases

Choose the correct answer from the options given below:

1.D.E,BAE

| B}

DA B CUE
3. D.A.C.B.E

4.D,B,C,AE

Options :

68634081977. 1
68634081978. 2
68634081979. 3
68634081980. 4

Question Number : 95 Question Id : 68634020750 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634081977. 1
68634081978. 2
68634081979. 3
68634081980. 4

Question Number : 96 Question Id : 68634020751 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The law of conservation of energy is also known as the

1. Newton's law of thermodynamics

| ]

. Second law of thermodynamics

T

. First law of thermodynamics

4. Third law of thermodynamics

Options :

68634081981. 1
68634081982. 2
68634081983. 3
68634081984. 4

Question Number : 96 Question Id : 68634020751 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ul WU FE S Fead ool
g D1 FHH ] &I Fan
SIS &1 g8 e
3. SHIdS! &1 ugal Han
4, SEFIADT T (=T FHaH

Options :

68634081981. 1
68634081982. 2
68634081983. 3
68634081984. 4

=t

| B}

Question Number : 97 Question Id : 68634020752 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT match the following food product in List I with their adulterant in List II

LISTI LISTII
Food Product Adulterant
A |Black pepper/ cloves] 1. |Urea
B. [Sugar II. |Common salt
C. [WheatRice I1I. [Coated with mineral o1l
D. |Powdered spices IV. [Karnal Bunt

Choose the correct answer from the options given below:

1. A-IIL, B-IV, C-1. D-II

| S}

CA-L B-II. C-III. D-IV
3. A-IV. B-1. C-IV, D-III

4. A-IIT, B-1. C-IV. D-II

Options :

68634081985. 1
68634081986. 2
68634081987. 3
68634081988. 4

Question Number : 97 Question Id : 68634020752 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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AL B-I1L C-IIL. D-IV
3. A-IV. B-1. C-IV, D-III

4. A-IIT, B-1. C-IV. D-II

Options :

68634081985. 1
68634081986. 2
68634081987. 3
68634081988. 4



Question Number : 98 Question Id : 68634020753 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Among the following categories of people, which is/are not affected by malnutrition?

A. Non-breasted Children

B. Pregnant and lacting women

C. Infant and children below 2 years of age
D. People who are food secure

Choose the appropriate answer from the options given below:

1. A. B and C only

| o]

.B and C only
3. C and D only
4. D only

Options :

68634081989. 1
68634081990. 2
68634081991. 3
68634081992. 4

Question Number : 98 Question Id : 68634020753 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafeiEd o 3 &0 B SH-8t 4uit a8 gauifad T8t gidi 82

A. T 7 H a0 g

B. Madt 3R &I B ara Aigdl
C. RIR[ 3R 2 a9 § 1 3 & g

D. S AT @Te] YRI&d g

i faw g fawedt 7 § T s g
1. Bacd A. B 3R C
2. Paa B HR C
3.%dd C 3R D
4.%dd D

Options :

68634081989. 1
68634081990. 2
68634081991. 3
68634081992. 4




Question Number : 99 Question Id : 68634020754 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Food Safety and Standards Authonty of India (FSSAT) conducts testing for different type of
adulterants

Statement IT: FSSAI through a network of notified laboratories conduet food testing and a consumer can also
take samples of food and get it tested 1s such labs

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct

-

. Both Statement I and Statement II are incorrect
3. Statement [ is correct but Statement IT incorrect

4, Statement I is incorrect but Statement II correct

Options :

68634081993. 1
68634081994. 2
68634081995. 3
68634081996. 4

Question Number : 99 Question Id : 68634020754 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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U 11: U5 U, T, U315, SHTEgfd TarTiersi| & Ue "ead & A1 ¥ @rel IRI&0] Hal o R UH
Fuiar it HisH & T54 & O warrRerelt H @ $R 3T Uie) Hral Jadl o

SIRIGd HYA & ATAD 1, Ad G0 70 ol 5 ¥ 9ol St &1 999 Sl
1. YT AR I 5 &
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Options :



68634081993. 1
68634081994. 2
68634081995. 3
68634081996. 4

Question Number : 100 Question Id : 68634020755 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII

- - »
[ incar momentum | I |Kilogram-meters” / second)

Moment of Inertia | II. [Kilogram-meters?

Angular momentum| I11 [Newtons

ofo]w]»

Force IV, [Kilogram-meter/second

Choose the correct answer from the options given below:

1. A-IV. B-I. C-I1, D-III

| S}

AL B-IIL C-IV. D-III

T

A-TIL B-IV. C-I1. D-I
4. A-IV. B-1I. C-I. D-III

Options :

68634081997. 1
68634081998. 2
68634081999. 3
68634082000. 4

Question Number : 100 Question Id : 68634020755 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-I. C-II. D-III

| ]

CA-I. B-II. C-IV, D-III
3. A-IIL B-IV. C-II. D-I

4. A-IV. B-II. C-I1. D-III

Options :

68634081997. 1
68634081998. 2
68634081999. 3
68634082000. 4



